S=2MEH A22512020000044
2 NE=Tbe JYE=TN= AFE X 2USABOE g &2l Mgz 2
i —01-10 =2 =10l Hh= N 9% box 1,415,500
2 01-15 EEETS EERE; N 3 box 180,000
3 -01-15 BT e N 27 box 1,620,000
4 -01-15 ESIEE EEE N 6 box 105,000
5 01-15 EEEY] oEse N 2 box 59,000
6 -01-15 EEDS e N 1 box 18,000
7 -01-15 ESIEE EEEE N 9 box 157,500
8 -01-15 ESIEE EEEE N 13 box 455,000
9 -01-15 B EEEE N i box 18,000
10 -01-15 EEES] SrE N 4 box 118,000
11 01-15 EEES] EEENE N 2 box 59,000
12 01-15 ESIEE EEENE N 27 box 472,500
13 -01-15 ESIEE EEENE N 2 box 35,000
14 -01-15 ESIEE ErNTE N 40 box 700,000
15 -01-15 ESIEE EERE; N 10 box 175,000
16 01-15 EEEY] EERE; N 8 box 236,000
17 -01-23 2 (10kg) ToH=ol ti= N 25 = 675,000
18 ~01-24 HIALSHE ENE! N 184 o 3,312,000
19 01-28 Us2ael ErNTE N 10 o 1,000,000
20 0129 HO0IMTEAE ErNE N 45 o 1,800,000
21 -01-30 E EENE N 5 box 200,000
22 -01-31 p Tor=ol ti= N 50 o 295,600
23 -01-31 EE EENTE N 85 box 501,500
24 -01-31 EEERES ENE! N 30 box 84,000
25 -02-01 R, ErNTE N 60 o 120,000
26 -02-01 SR, ErNTE N 56 o 2,800,000
27 -02-21 e EERE N 10 box 450,000
28 -02-21 e Colgnel N 3 box 135,000
29 0222 Moo EERE N 24 box 972,000
30 0222 FE=+ EERE N 3 box 66,000
31 0222 e =0l HiE N 15 box 675,000
32 0222 EEEESY] EENTE N 8 o 534,000
33 0222 WEI A T N 12 = 120,000
34 0222 EEPNCETS Az A N 9 o 511,500
35 0225 SEERR ErNE N 160 o 1,120,000
36 ~02-26 FHIMS EEENE N 40 box 1,200,000
37 ~02-26 Y EEENE N 51 box 3,417,000
38 ~02-26 Y EERE N 14 box 938,000
39 —02-26 2 (10kg) ToH=ol tie N 25 = 675,000
40 0228 ER Tor=ol tie N 16 = 73,600
41 0228 EEERES ENE! N 30 box 84,000
2 0305 =orpd EEENE N 22 box 587,400




43 S22 Z2E W= N 9 256,500
44 = oA SHEO HiE N 40 box ,068,000
45 S22 SHEO HiE N 40 box , 140,000
46 mEH F2AE N 538 Pl ,883,000
47 2 (10kg) o= 0l HH =2 N 25 E 675,000
48 o Mot Ql HH =2 N 20 FS 95,200
49 o QIZIRBISI| 24l HiE N 5 FS 62,400
50 2 El QIZIFOHSI 24l U= N 80 55 800,000
51 2 (10kg) o= 0l HH =2 N 25 E 675,000
52 TE= J2AY N 5 110,000
53 o QIZIFOHSI 24l U= N 20 137,200
54 o o= 0l HH =2 N 5 23,000
55 HEHE S A =Xl 2 N 30 84,000
56 Jtdiol A SHEO HiE N 200 100,000
57 2rcladsd =Xl 2 N 8 80,000
58 =Pl SHEO HiE N 11 495,000
59 S¥AS =Xz N 540 , 100,000
60 = E =X N 9,000 ,910,000
61 =scladzd Z2AE N 150 ,500,000
62 EEWNPNP =Xz N 1 380,000
63 & Z2AE N 566 ,981,000
64 2 (10kg) Mot 0l Hi =2 N 25 675,000
65 o QIZIFOISI 24 HH=2 N 4 30,200
66 o Mot 0l Hi =2 N 20 109,400
67 HEIE S A =Xz N 30 84,000
68 pu B XK= D] SHLO HiE N 436 . 772,000
69 pu B XK= D] Mot 0l Hi =2 N 39 ,053,000
70 PNEIPNER SHLO HiE N 110 , 750,000
71 NE °IF SAHLel Hi=2 N 30 900,000
72 2 (10kg) JeAg N 10 270,000
73 =2 X MIot=Ql HH =2 N 3 144,810
74 =2 X SAHLQl B2 N 11 530,970
75 HISHa SAHLQl B2 N 22 937,200
76 2 (10kg) MIot=Ql HH =2 N 25 675,000
"7 SAHZ SAHLel Hi=2 N 4 320,000
78 TS QIRIAGISD K= N 2 61,760
79 o QIRIAGISD K= N 5 118,850
80 o = Kl2 N 4 47,300
81 o MIot=Ql HH =2 N 10 221,150
82 4 J2AE N 15 51,150
83 SX0ISE= J2AE N 30 63,000
84 HEIEZ A = K2 N 30 84,000
85 2 H It SAHLel =2 N 6 400,500
86 &3 ol kel N 9 495,000
87 o= SAHLel =2 N 1 1,709,400
88 2018 SAHLel =2 N 100 2,000,000
89 HS0l= SAHLel =2 N 23 1,150,000
90 &3 SAHLel =2 N 28 1,260,000
91 H= J2Ag N 20 120,000
92 2 (10kg) MIot=Ql Hi =2 N 25 675,000




2sclasd JE2AY N 50 Z (1) 500,000
MES SHEO HiE N 1 Pl 1,295,000
A SHEO HiE N 3 CH 1,050,000

o SAHLQXRABSI| 24 HiE N 50 FS 175,850

o Lol itel N 10 FS 47,000

o Mot Ql HH =2 N 12 FS 111,600
HEHE S A =Xl 2 N 30 box 84,000
ME20IE SHLO HiE N 10 Pl 1,000,000
S0+ JE2AY N 30 FS 63,000
=43 J2AY N 15 = 51,150
=2 SHEO HiE N 4 box 320,000
A= JE2AY N 20 Pl 120,000

2 (10kg) o= 0l HH =2 N 25 E 675,000
TE= JE2AY N 5 box 110,000
SAHAS(==HbI) SHLO HiE N 3 box 90,000
o SAHLQXRBSI 24l HiE N 6 FS 16,200

o colgiel N 20 =S 131,600

o Mot 0l Hi =2 N 10 =S 59,600
HEIE S A =Xz N 30 box 84,000
=Pl SHLO HiE N 4 CH 180,000
oS SHLO HiE N 62 H 620,000
H=SHE =Xz N 216 H 5,400,000
=scladzd SHLO HiE N 100 (o) 1,000,000
=scladzd SHLO HiE N 200 (o) 2,000,000
= JZ2AY N 8 box 240,000
SHOLEEDIM S SHLO HiE N 20 box 320,000
2 (10KG) SHLO HiE N 7 i 252,000
2 (10kg) SHLO HiE N 7 i 252,000
Sl JeAg N 20 kg 110,000

2 (10kg) MIot=Ql HH =2 N 25 i 675,000
o el itial N 10 =S 59,200

o MIot=Ql HH =2 N 5 =S 42,500

o SHLAXIATSI| 24 = N 10 =S 74,300
HEIEZ A = Kl2 N 30 box 84,000
SJI1E 3 = Kl2 N 1 CH 1,240,000
SJI1E 3 = Kl2 N 1 CH 915,000
H=F SAHLQl B2 N 1 box 70,000
=5 el itial N 14 box 688,800

A PNE SAHLel =2 N 14 box 924,000
s MIot=el Hi =2 N 20 kg 120,000

2 (10kg) MIot=el Hi =2 N 25 i 675,000
o SHLXIATSI| 24 = N 4 k=] 29,000

o ol kel N 6 k=] 33,900

o MIot=el Hi =2 N 4 k=] 13,100
KIXAZH S sz SAHLel =2 N 41 Pl 205,000
HIEQHALS SN0 =2 N 41 Pl 533,000
HEIEZ2 A = Kl2 N 30 box 84,000
= 9f SHEQ = N 20 box 943,000
HES2Mdal SAHLel =2 N 100 Pl 3,000,000
HHAEE SAHLel =2 N 40 Pl 1,200,000




F2AE N 40 kg 104,000

RS N 920 kg ,600,000

RS N 360 kg 936,000

o= 0l HH =2 N 20 kg 120,000

SHEO iR N 30 box 900,000

SHEO HiE N 8 Pl 304,000

o= 0l HH =2 N 23 = 200, 100

SHLO HiE N 100 E ,500,000

R=d N 470 kg 1,222,000

R=d N 1,100 kg ,500,000

Sctol A SHEO HiE N 22 box 521,400
AE =g =X N 12 kg 120,000
AE =g =X N 24 kg 240,000
AE =g =X N 120 kg ,200,000
AE =g =X N 12 kg 120,000
AE =g =Xl 2 N 11 kg 110,000
A =g =X N 8 kg 80,000
AE =g =X N 12 kg 120,000
AE =g =X N 24 kg 240,000
A =g =X N 12 kg 120,000
AE =g =X N 12 kg 120,000
A =g =X N 12 kg 120,000
AE =g =X N 24 kg 240,000
AE =g =X N 12 kg 120,000
A =g =X N 12 kg 120,000
AE =g =X N 24 kg 240,000
A =g =X N 4 kg 40,000
AE =g =X N 50 kg 500,000
ANE =g =Xl N 24 kg 240,000
ANE =g =Xl N 33 Pl 330,000
ANE =g =Xl N 12 Pl 120,000
ANE =g =Xl N 24 Pl 240,000
AE =g =Xl N 12 Pl 120,000
2 (10kg) MIot=Ql HH =2 N 25 i 675,000
ANE =g =Xl N 11 kg 110,000
ANE =g =Xl N 12 kg 120,000
ANE =g =Xl N 12 kg 120,000
AE =g =Xl N 33 kg 330,000
ANE =g =Xl N 12 kg 120,000
AE =g =Xl 2 N 12 kg 120,000
AE =g =Xl 2 N 12 kg 120,000
AE =g =Xl 2 N 12 kg 120,000
ANE =g =Xl 2 N 1 kg 10,000
ANE =g =Xl 2 N 24 kg 240,000
ANE =g =Xl 2 N 120 kg ,200,000
ANE =g =Xl 2 N 120 kg ,200,000
ANE =g =Xl 2 N 24 kg 240,000
ANE =g =Xl 2 N 1 kg 10,000
ANE =g =Xl 2 N 60 kg 600,000
ANE =g =Xl 2 N 22 kg 220,000




193 ANE ==Y = X2 N ,000
194 ANE ==Y = X2 N ,000
195 ANE ==Y = X2 N ,000
196 AMNE ==Y = X2 N ,000
197 AMNE ==Y = X2 N ,000
198 AMNE ==Y = X2 N ,000
199 AMNE ==Y = X2 N ,000
200 AMNE ==Y = X2 N ,000
201 AMNE ==Y = X2 N ,000
202 AE =g =X N ,000
203 AMNE ==Y = X2 N ,000
204 AMNE ==Y = X2 N ,000
205 AMNE ==Y = X2 N ,000
206 AMNE ==Y = X2 N ,000
207 AMNE ==Y = X2 N ,000
208 AMNE ==Y = X2 N ,000
209 AEf =2 S X2 N ,000
210 AEf =2 S X2 N ,000
211 AEf =2 S X2 N ,000
212 AEf =2 S X2 N ,000
213 AEf =2 S X2 N ,000
214 AEf =2 S X2 N ,000
215 AEf =2 S X2 N ,000
216 AEf =2 S X2 N ,000
217 AEf =2 S X2 N ,000
218 AEf =2 S X2 N ,000
219 AEf =2 S X2 N ,000
220 AEf =2 S X2 N ,000
221 AEf =2 S X2 N ,000
222 AEf =2 S X2 N ,000
223 AEf =2 S X2 N ,000
224 HIEIREHA = Xl 2 N ,000
225 B MOt Ql Hi 2 N ,600
226 B Lol xte| N ,600
227 = i = N ,000
228 & MOt ol Hi 2 N ,000
229 HE0|2 SN0l HiE N ,000
230 252N EA SHLO & N ,000
231 252N E3A SHLO & N ,000
232 A (10kg) MOt Ql Hi 2 N ,000
233 A (10kg) SHLEO i N ,000
234 HE2X SHLOl e N ,000
235 B Lol X2l N ,000
236 B MOt Ql Hi 2 N ,900
237 HIEIREHA = K| 2 N ,000

154,340,490




